SYDNEY GIRLS HIGH SCHOOL

2002
. HALF YEARLY EXAMINATION
MATHEMATICS

YEAR 9

Time allowed: 75 minutes

Instructions:

« There are FIVE (5) questions. Each question is of equal value.

« Attempt all questions.
« Show all necessary working. Marks may be deducted for badly arranged work.

« Start each question on a new page. Write on one side of the ‘paper only.
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QUESTION 1

a) A rectangle has a perimeter of 44 cm and is 9 cm wide. Whatiis its length?

b)  Between which two consecutive integers does V17 lie?-

) Write 7i620(000 -irlf,"crignit:iﬁcrnotation.

d) How far does a train travel in 20 minutes if it travels at 120 km/h?

e)  Simplify %?-—g

f) Simplify 3p-2p? - 5;22: P

g) Complete the statement: The sum of the exterior angles of a polygon is....
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h) Change the subject of the formula to x:  y=3x-2

'the"number three less than x is one third of x'

)] The area of a rectangle is 20 cm?. How wide is the rectangle if it is x cm long?

W x+5=9, find x* -6 __

m)  Simplify 2(x -4)(x+2)

@ A car is travelling at v kilometres per hour. Convert this to metres per second.

0)  Petrol prices rise from x gents /litre to y cents/litre. Before the rise it cost $m to fill

my car with petrol. What is the new cost of filling the car with petrol?
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’ QUESTION3

ize of the interior ;Fél"é"df\'é‘"fé@'ﬁfé?hg{aﬁaﬁ_‘ . ‘ a)  From a normal pack of 52 playing cards, a black card is randomly drawn out and
e , o ' Y - ' kept aside. What is the probability that when a second card is next drawn at random
‘Evaluate” — = a? given that a = 2 from the pack, it is also black?

N

‘ ' b)  Simplify
Solve 4-2x < 6, and graph the solution-on the number line. .
Co - : DN a’x4a%
d)  Simplify B ii) 24ab? +4a3%h
. ab 2a
L
° _— i) (3x?)’

Ay, 9 5 o
3p  xty 2

1
c) Evaluate, without a calculator and showing working, 4x 2 when x=9.

. € / Forthe table given below, find i) the common difference
S S . . v

Y ii) the rule for the relationshi e o
) ya AN ) et P d)  -Give the answer to the following in scientific notation, correctto 3 -
\\ ) significant figures:
S o Sl N S I L 7645 x 9765
Y y 3 (-1 1519 [-13 -17 (0 454)‘
: T . ‘

i i ! ith grad ~= and a y-int tof 3 -

f F'md the equation of a line with gradient 5 and ay-intercept o The area of a semi circle is givenby A= %;rr’. Change the subject of

' T— this formula to r.
g) Write the x and y intercepts of y = 4 - 2x.

Hence draw aneat sketch of y=4—2x. o - i
© a ea‘ y f) A trapezium is drawn with its. parallel sides 5 cm apart. You are told that

: / the area of the trapezium is 30cm?, and that the lengths of the parallel -
h) A bag contains jelly beans, of which 9 are red, 5 are gfeen, and 3 are yellow. / . . p' - S ) g S parat
. . . . / sides are integers (in cm). Find all the possible lengths that the parallel sides

If one jelly bean is chosen at random, find the probability that it is green. b - - - S
- - ! could be.

. . AR
Find the reciprocal of = x +-—.
ToX
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